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Oll&bXb2= - =0llat
SIAHFE ¢ L=sX0I12

OPNE=EONE=

- =) A | X = A &

£ = =N AN sz £ = PN HACK|EH
E Al 779,453 783,325 23,872 | & Al 779,453 783,325
= 0 0 0| HISXHE AL I 22,500 22,500
2X= 0 0 0| A& A 0 0
ez 0 0 0| el=Et2aH| 0
e 0 0 0| 2123 0 0
HE=E33l+ 0 0 o|oIE= 0 0
GIXI=al4 760,825 758,308 2,517 | OIXI= 756,953 760,825
ES=] 0 0 0| HeSaieiSae 0 0
Olxt==¢ 18,628 25,017 16,389 | OixSalei 3 0 0
JIEt== 0 0 0| JIEXI= 0 0
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37 ¢ Lol=x |2
=2 A& Che M)
ags sgy | PS5 | m2 MEW
200 Ail42] 18,628 25,017 16,389
210 A=Al 18,628 25,017 16,389
216 OIXt4=¢l 18,628 25,017 16,389
216-01 2020/ X4 18,628 25,017 6,389
SFIEEEENIY 18.628
— =102
760,000,000& * 2.45% = 18.620
—Z2012
85,0002 * 1.0% = 8
700 ERASASULI 1N 760,825 758,308 2,517
710 BREAS 760,825 758,308 2,517
714 0IxI23% 760,825 758,308 2,517
714-01 OIIXI 2814 760,825 758,308 2,517
O0xI2 760,805
—F7|012
760,000,0002 * 141 = 750 000
=
85,0008 * 14! = 825
> g g 779,453 783,325 13,872
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wol=x =& 22,500 22,500 0
LOIZXDI2AR(L0I=XD2) 22,500 22,500 0
ColTHS S 22,500 22,500 0
301 YergAE 3,600 3,600 0
09 BHAAIH|IEAIZ 3,600 3,600 3,600 0
0015 F0IES &40
60,0008 * 20% * 23| = 2,400
OL0l5| AlXIS-23 928 =oItHs| &
60,0008 * 20Z * 13| = 1,200
307 Q120 18,900 18,900 0
02 DIZFAAIAIE = 18,900 18,900 18,900 0
OZ2Y £3|0F AR & oY 3,600
—J|= 80,0008 * 1AI2+ * 303 = 2,400
=J} 40,0002 * TAI2+ * 303 = 1,200
OISR HEH| X 300,0008 * 15)HA = 4,500
OO0l Z0|ME X 6,0002! * 30 * 603 = 10,800
THPE S (=0IMEX| 2D 756,953 760,825 13,872
SEIE(L=2X12) 756,953 760,825 N3,872
ERSNES 756,953 760,825 13,872
602 GilXI2 756,953 760,825 13,872
N LE 756,953 756,953 760,825 13,872
OnIXI2 756,953
= 755,000,0002 * 14! = 795,000
—2=02 1,953,0002 * 14! = 1,953
I s g 2 779,453 783,325 13,872
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2009 DHK| 673,790 500,000 0 173,790 0
20109 & 65,006 0 0 65,006 0
20119 & 30,361 0 0 29,661 700
20128 & 24,696 0 0 24,696 0
20138 &= 27,544 0 0 27,544 0
20149 = 25,017 0 0 25,017 0
2018 = 18,628 0 0 18,628 0
A 865,042 500,000 0 364,342 700
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